%30[E]

hESKhY T INEENL—R—ILKE

SRRt A Ba—bk

=TS A ca—hk
KLEF>> [128 ] <F5F2R128 (R)
=\ ) L
A5 L1 B5
21 — 9 21 — 16
21 — 910 2421 — 1010
(- % 5
A7 B7
21 — 15 | 21 — 17
2421 — 1810 A8 2421 — 1110
- 11— 21 -
21 — 1241
= ) 15— 12 A
A6 B6
21 — 10 21 — 5
2423 — 2110 2421 — 810
- #3- AR RIBLLRER —
B8
x% 8 =m 2{;? Z f;}1 it ° me
ATRRE 16 — 14 B1ME
e LREd RE I\IE
A B
B =% e A
AEIE <ATIL—T> =5 AHENE <BTIL—T> ¥
9 — 21 21 — 14
Al Al 16 — 21 HE = B1 K 16 — 21 [ =HiA
21 — 11 21 — 19
A2 =8 21 — 1 e A B2 A 14 — 2 AV - R
21 — 11 21 — 9
A3 e 21 — 13 R L2 B3 K 21 — 9 JAY - SES
7 — 21 21 — 7
A4 Bl 16 — 21 =8 s B4 [ 21 — 6 HiE I\
[[:303 AT IV—T e Blob Ktvh BR | KR | BRFE [[:{03 BYIL—T B Bevk| ko BE | k8 | BAXR
2 [RENR 3 2 2 77 | 66 | 1.167 2 KE 4 3 1 79 | 53 | 1.491
3 EX] 3 2 2 75 | 77 | 0974 1 EES 4 3 1 77 | 50 | 1.540
1 =% 6 4 0 84 | 55 | 1527 4 B 1 1 3 48 | 82 [ 0585
4 FREE 0 0 4 | 46 | 84 [ 0548 3 J\i& 1 1 3 58 | 77 | 0753
TFFEIBMLRE BR > BSRE@REBA/MERR) > Syoiry
538 BlENIT: 1A =1h )
XFFEICHALTEARXFEE GR35 . HEMH
Fi#E(F2tvh21 mER
KEYHA | [128 ]
HEIE <SYHRTIL—T> =¥
21 — 14 3
ci & 21 — 19 L3k IINBB El8 S H
21 — 18
c2 N 9 — 21 piz| &
15 — 8
21 — 16 N
c3 & 21 — 16 i L i /NGB
21 — 8
C4 it ] 21 — 4 IR A 18z [SvoRT—T| Bb | BT |Buor|ktor| BE | &8 | BAE
— 1 EES 3 0 6 0 | 126 | 84 | 1.500
21 — 12 2 X3 2 1 4 2 | 117 | 86 | 1.360
c5 & 21 — 7 JNER C6#H 3 INEE 1 2 2 5 76 | 131 | 0580
— 4 ] 0 3 1 6 | 111 | 129 | 0.860
21 — 15
C6 L 21 — 17 ; C5#HE SYHRIBRLRE MBS HINESBAR> SISy




